Unit 1 Practice test
1. Davey decided to play football this year even though he had a serious knee injury. His parents and friends all told him he was crazy and that obviously he did not care about his future health. Using economic reasoning, how would you explain Davey’s action?

A. Davey has no respect for his health

B. Davey’s parents and friends do not care about his happiness

C. Davey thought that the benefits outweighed the costs

D. Davey is stupid

2. Which of the following statements is NOT consistent with the concept of scarcity?

A. People are scarce because they have many valuables in the world

B. Trash is scarce because you rarely see much of it around and has no value

C. Knowledge is scarce because what we wish to know is great relative to what we do know at a given time

D. Electricity is scarce because it has many valuable uses

3. Hannah was showing her friend Blake the new car she purchased. She told Blake that the car cost her a two-week vacation in Jamaica. Blake got on Hannah’s case, “that is not the cost” he said; “you gave up $10,000”. If they were talking about opportunity cost, who is correct?

A. Hannah

B. Blake

C. Both

D. Neither

4. Which of the following is NOT a characteristic of a command economy?

A. Public ownership

B. Competition

C. Government regulation

D. Economic planning

5. Who sets the price of goods and services in a market economy?

A. Entrepreneurs

B. The government

C. Bob

D. Buyers and sellers

6. ON average, who in this group is likely to earn the largest income?

A. A person who completes high school

B. A person who completes college

C. A person who drops out of high school

D. A person who earns a professional degree
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7. Study the above graph, what would the opportunity cost be of producing at point “C”?

A. 100 military goods, 80 civilian goods

B. 30 military goods, 75 civilian goods

C. 70 military goods, 5 civilian goods

D. 60 military goods, 60 civilian goods

8. Which of the following actions by the government could hinder the economic concept of voluntary exchange?

A. The government purchasing military equipment

B. The government enforcing a minimum wage

C. The government maintaining a budget deficit

D. The government cutting welfare funds

9. A factory, drill press, saw, hammer….what factor of production do these illustrate?

A. Land

B. Labor

C. Capital

D. Entrepreneurship

10. Which of the following would be considered an investment in human capital by the government?

A. Providing more welfare

B. Building more schools

C. Repaving roads

D. Bombing a foreign country

11. Actions in one part of the country or world have an economic impact on what happens elsewhere are examples of

A. Opportunity cost

B. Trade-offs

C. Specialization

D. Economic interdependence

12. Who plays the role of protector, consumer, regulator, and promoter of economic goals in the United States?

A. Entrepreneurs

B. Government

C. Business

D. Workers

13. Which of the following would most likely improve the productivity of Mr. Quick?
A. A copy machine

B. Freshly painted walls

C. Fewer desks

D. New clothes

E. Trick question! Nothing can make Mr. Quick more productive than he already is.

14. Jarvis bought a new pair of shoes that cost $125. Which of the following basic economic questions was answered in this statement?

A. For whom to produce

B. What to produce

C. How to produce

D. Both A&B

15. Which of the following is most likely a capital good?

A. Chinese food

B. A dress shirt

C. Cable TV

D. A table saw

16. Which of the following best describes the relationship between trade-offs and opportunity costs?

A. Opportunity costs occur when trade-offs are made

B. Opportunity costs are the opposite of trade-offs

C. Trade-offs lower the opportunity cost of an economic decision

D. Trade-offs occur when there are no opportunity costs

17. Which of the following nations is going to have the greatest economic growth?

A. A nation that relies on traditions and customs to define economic policy

B. A nation with a high birth rate and few resources

C. A nation that uses advanced technology and equipment in production

D. A nation whose economy is run solely by the government

18. Which of the following is the best way to describe money?

A. Dollar-dollar bill ya’ll

B. Any currency backed by speck

C. Anything that is accepted as final payment for goods and services

D. All coins and paper currency that is manufactured by the government

19. A master welder must have years of training and experience before reaching that position. Which of the following labor categories would a master welder belong?

A. Unskilled labor

B. Skilled labor

C. Educated labor

D. Professional

20. Using the information below, create a production possibilities curve and answer the question.
Nation: Jamaica

Product A: plantains

Product B: coffee

If Jamaica focuses all its resources on only producing plantains, it can produce 10,000 units. If Jamaica focuses all its resources on only producing coffee, it can produce 50,000 units. Producing at point “X”, Jamaica can produce 6,000 units of plantains and 35,000 units of coffee.

What is Jamaica’s opportunity cost for producing at point “X”?
